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THE OPEN UNIVERSITY OF SRI LANKA
BACHELOR OF MANAGEMENT STUDIES DEGREE PROGRAMME — LEVEL 03
FINAL EXAMINATION — 2016

MCU1205 - MICRO ECONOMICS

DURATION: THREE (03) HOURS

DATE: 03.07.2016 TIME: 9.30 p.m. - 12.30 p.m.

INSTRUCTIONS:

Answer “Part A” and any three questions from “Part B”.

“Part A”

(D Do you *“agree” or “disagree” with the following statements. Explain your answer
using illustration where possible.

(1) When the demand is inelastic for a product a ten percent change in price leads
to more than ten percent change in demand.

(i1) Indifference curves do not cross with each other.

(ii1) ~ When the price of an item is higher than the equilibrium price it creates a
shortages in the market.

(iv)  When the price of a good changes, the entire demand curve of that good shifts.

(v) When the price of butter decreases supply curve of the butter shifts to the
right. :

(vi)  The value of Cross Price Elasticity between butter and margarine is negative
(-) and bread and margarine is positive (+).

(vii)  If the government imposes a tax on a product that has an elastic demand the
tax revenue of the government increases.

(viii) The price floor is impose by the government in order to protect the producer.

(ix) If the Production Possibility Curve is a straight line, it means that the
opportunity cost is increasing.

(x) The Income Elasticity of Demand explains the change in demand of a
particular product due to change in consumer income.

(10 x 4 marks = 40)



“Part B”

2) (a) Consider the short run cost function of a firm given below. Fill in the table.

Output Total Total Total Average | Average | Average | Marginal .
Units | Fixed Cost | Variable Cost Fixed Variable Total Cost
Q) (T.F.C) Cost (T.O) Cost Cost Cost M.C)
(T.V.C) (AFC) | (AV.O | (AT.O

0 60 0

1 20

2 41

3 76

4 112

5 160

6 214

7 284

8 380

(08 marks)

(b) Do you “agree” or “disagree” with the following statements. Explain your
answer using illustrations where possible.

(1) Shut down point is reached when the total revenue is equal to total
variable cost..
(i) Profit maximizing output is reached when Marginal Revenue is equal
to Marginal Cost.
(i) Long run is a period of time where there are fixed factors of
production.
(3 x 4 marks = 12)

3) (1) Providing examples differentiate the following.
@  Q=f(K,L)and Q=f(KL)
K — Capital, L — Labor, Q — Output

(i) ISO cost curve and ISO quant curve. (06 marks)



4

)

(b)

(a)

(b)

Short run production function of a firm is given below.
) Fill in the table.

QL TP, MP, AP,
1 | 10
2 24
3 21
4 16
5 80
6 10
7 90
8 11

QL = Quantity of Labor

TP = Total product of Labor
MP|, = Marginal product of Labor
AP = Average product of Labor

(i1) Identify the stages of production in the short run. Explain the same
using illustrations.
(iii) At what stage should the rational producer operate ?
Explain why he should not maintain his production in other stages.
( 14 marks)

“A business manager should have a sound understanding about market
structure” Do you agree with this statement? Why or why not? Explain giving
reasons. ’

(10 marks)

“Perfectly Competitive firm is a price taker” Explain this statement using
Illustrations.

(10 marks)

Explain whether following statements are “true” or “falls” using illustrations.

@

(i)
(iii)
(iv)
)

Nature of a market in which a person, planning to set up a restaurant is
Perfectly Competitive.

Demand curve of a Monopolistically Competitive firm is perfectly elastic.
Price discrimination can be practiced by a Perfectly Competitive firm.

Natural Monopoly is the consequence of economics of scale. -

Firms operate in the Perfectly Competitive market make economic profit in

the long run.

(5 x 4 marks = 20)
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“u A”

eTu@mD Do Eemen gbmie QETendeiSyT  SisoeoE  GHmIG GarsitemeMsvensouim ?

il.

iil.

v.

Vi.

vii.

viil.

1X.

. osudlLoreneliLsg aIeyULHiGmeTs Qarati 2 mibsiier efeni_smul 6MeNdES.

o BusHL  GuUTEHLETTEITGSTEN Gaeital  CBEAPFAUDBSETE BDMHEGD BuiHl, DiHe
aflmeouley LSS 6% MHBD, Germaulsd uss HIHHIBE SIG\BLDTE
IBoHEHEG BLGF GFgub.

giouwesn (indifference) semenuiissit @eiEPBOWTEID GBIGBSG Q& U161 FsVEMEU.

QuiGestTasr  afmed  FLOHEMED  EleHEVEMULI Al o wieunsd DOHbHSTE, DibHl
FHanGHUIH UBBTHEGMBEMET JHBUBSHILD.

QuIEmGsTTsImen 6femsy LOTMID GLITHL, SeLTmeRsr 1wy CaeiTall sueneTUD HHHD
Ul Lfler eflemey @GevmeusnLuitd U, MFbLd suemenudl ausuE! USESHEG BHHBHLD

ulLi  wBp  wrefldr s EweaBisn  GUeE el OmpapFAuier G
agiwempursad (-) . uraiBEL, wreflafib@id oiE FTHswIead (+) BEHESLW0.

OraApFAumL_w Cosiallomwd Qoram. 2 BUSSIL QurCenmefisl 6% SIJFTHRIBD
afGWnsens  efENGHSTe0, SIFFTEISSSHE eufl EUHLOTEID SR BFHGLD.

o BuUSSHWITeTenyil UTEHIETGGD  QUIGLE — DIJFTRHGD SlghHen  allensvsnill
BB\ mGI.

o BuSHE FIHHW euemsmul CHiGaTLTHeMNBHST6, SIELWEF GFeve  SHEFEB DS
il GUITHETLIBLD.

oumwTend Fri  Gmeitell OpEPFS, mHIHTCMHlST  auHLOTEN rmphaemes Gl
GuIBEsTTas Goseialuls gBUEL WIBDEMS eleNbEGHBSHI-

(10 x 4 ysieflesit = 40)



“Ll B”

(1) (a) &6l sIUUL@eel  FmeuensHer  GOIhRGETe  QeEmOABUTL L HHHHCBHSI
S Lsuememuilspieien  @ent Geuefsdenem BIrlLs. -
Qeusfiuf G | Gorss Gon s g Qurss Fyraf Firmaf FITF]] 6T60ENEVF
SIEVE 61T EDEVLLIT 6ur LDTmILD QF6v6y HlsmeoLm eor LOTmID QwrgH s QFeua) L
GFsvey QiFsuey QFevay LFsvay QiFevey
(Q) (T.C) (M.C)
(T.F.C.) (T.V.C) (A.F.C) (Av.C) (A.T.C)
0 60 0
1 20
2 41
3 76
v 112
5 160
6 214
7 284
8 380
(08 usiteiaein)
b. Ueieu@plo  mBupibsmer  gopmis  Oamendamyn  owvegl ghms  Gsmsiensfsteneouit?
Sieufluoreiell_Sg mIULRISmeTs CErai® o Fiseafsr efmLmu aflonsds.
. Glomhs  auELIsD, QLTSS Wiy OFeelle sFwwresmGsE GuTg, @ Hmeo
Lsiarilemus SismLujib.
i. 6I6LEMEL  QU(BLOMEND,  eTeLEmEVF  LFeualliig FLOWTHEN S GD Gurgl,  @eoru
8 FFuUBsHBHID Geusilufl ebL  SiemL_ujb.
iii. BEWIL &HI6VD 6T6ILIG BlemeuITeN 2 _BUbHE SITasHsT 2 66T STeTELD.
( 3x 4 yeirerilmeit = 12)
(2) (a) UleSTaubUaTEUDEND 2 HTJemitibeneids CamaiG CoumibBsHsis.

(i a=f (K Yoa=Ff(KL)
K—weogeailn, L— 2 snwply, Q — Qeusfui®

(ii) ISO GiFevay suememuiujd, SO Five MLiGHS euemenuiub.
(06 ysiteasr)



b. BimieusQLoneilel GmbST 2 Budbdl Qamipur®d S8 HIUUL(BHeTsTHI.
{i) AenLGeueilaemer BIFiLs.

Q TP, MP, AP,

1 10

4 16

5 80

6 : 10

Q.= emfPui OHrms

TP, = Qurss ompu Geuefui®B
MP, = stebemen eamfus Geusiiui®
AP, = ggnsfl e Geusfiui®

ii. GORSTHSN 2 BubHd S L HibamsT S6D &HITeis.
DFma eMeNbHUILLRGMmeTS CETat( allendds.

iii. 66 BLLEHH UGHSHeautear o BuSswrsti GeubuL. GeuemiBo? SieUT  eJemauil
S LRIE6M Sarg o pusdlaw ger GhesTeiend FalTHl 6IaUmS allaTHG 5.
(14 yeiterfmei)

“Fhemsd SLLemwlemU upd efwrury (paeTeownenegr@et FABhs Sifleneud  GIETE0NG.IHHESHE0
Calsfiw”. Bé Fmpenn gome OeTeraleniyT? el Di6060g! GailcLsmen. STIEIGMENTE
Oaremi® ellensE:HS. _ (10 yeirerfiEeir)

“Benp GUTLY MHneuad el gHUITGD”. @& Fmbmlmen eflsThal UL HIGmES
Oarami(p ailend@Es. (10 eiteriiameir)

LeiTeumD FabmibEeT “sHUTEmaIUT’ Dis0sog ! “LIpUITEIEHEILIT 616 eN6NEBLILIL_MRIGEN6ITS
Q&N allendE@s.
i BUCITEHaT 2 _anasCotdiens oybisss SLOGD Fhopuld  Hetemio

Plenp GuTiguIT@id

i. safuflenio Gum' iy BmeuesHdlsn Gameiail em&nsnuj Benpeuten GHaSIpFFamuws
GsnemBeitengl.

il. Bemp GuUITL LY. Mmisuanissnsn aflenen CUHHMS MEHHOIBNEITEN (LPIQUD
iv. BuiBmes salwflew, CUIGTTST ek SiLhHe elmenans gBUGEmEI.
V. BeBCUTL Y FhamSHulsd QFuBUGL HDeUThibsT, Hewi HTOL Buraaled QUTHETTSITY
BeoTUHMS  SlemL_Sleime. .
(5 x 4 yeteMamslt = 20)
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